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Motor Current vs az position. (Master motor)

2F T T T ‘ S ]
ST n + I
AL T - i
A + x ++ + + A
e o gl it ol T g P o
[T [T AN ALLAT A JF LT UL AR LA %HHF
C % WMmm"mmw"‘'llIVIIIMHIIHIWIIII\l\\IuI\lllllllﬂIIIIVIIHIIVIII\mVIIIIHIHIIHIIVI\VI‘ﬂ’,‘u’lﬂﬂllﬂllu’;“m‘""Immmmulm,mmmIﬂ I WW_FW_H—H_FH%&% ﬁH’ 4‘H‘ ]
= Lo AT T T T B
oF |+ + i e
I\MMWMWWWWIMIﬂIHl\mml\WIWIWINVlll\MIIIVIW\IIIWIIIVIWIHIM\lm\l\MIMﬂl\MMMMMMMIMMWMIMW%MMHMMMI\IHI\MIIIIIIIIII\IIIIVIVIIVIMWIIMIIIIIIMI Jr JF JF ++ <H> H jibr H:i ﬁ
it IWMMHMWWWHMWMMMWWN“IWW\IWIHMWII{IMWHWIWIWHIIHI\IW\WIMHIMUIIIIIVIIIIIIMIMHIIIMIVIIIIIIIIIIIU Jr +H
1e E
-2 E ‘ J
-100 0 100
Az position [deg]
Motor Current vs az position. (Slave motor)
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Az motor current vs azVelocity
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